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6. Cereal crops (maize, rice, wheat,
millets, sorghum, etc) do not have
nodules
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1. In roots
of legume/pulse
there are 
small 
spheres (nodules)
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2. Remove nodule from soil and cut open 
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4. If active,
then microbes
(not visible)
will be producing
nitrogen fertilizer
(shown as blue c
olour but
actually invisible)
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7. The cereal 
crop can benefit
from the nitrogen
fertilizer from the
legume in the subsequent
season if planted at the
same location
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3. If microbes
are active,
colour will be pink
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8. Reduced need 
to purchase
synthetic
nitrogen
fertilizer (urea)
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5. The organic nitrogen fertilizer (blue colour) will be
deposited into soil as the roots decompose
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Background educational lesson: A legume (bean) or pulse can produce organic nitrogen fertilizer by associating with beneficial microbes (rhizobia) that inhabit spherical organs in the roots                  called nodules. If active the nodules are reddish in colour.




